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2 mEHER
(1) 11AB0RBUEDKRG S 2 BXKD 1 HHFIT61. 2% & 72> TWET,
15 HE (%) SHPE  AMEPE SMEPE 2HPE THE
8H 31 HHIfE 68.9 68. 0 76. 1 74.3 67.8
9 H 30 H HifE 59. 6 75.8 82.6 80. 7 67.6
10431 H BAE 61.3 79. 4 83.6 80.8 72.9
11430 H EA1E 61.2 78.7 83.1 80. 3 73. 1

& (BFE10H31H) - 78.6 83.1 79. 8 73.2
(2)  2ZLI T SN2 A, BE., BhRE, Bk

X5t TH,

FATEEAR (%) SAEPE  AMEPE S4ERE 24FEPE JUiERE
FE 65. 3 54. 8 48. 7 48. 8 58. 2
& ki 14.8 17. 7 21.7 26. 2 20.0
AT A I 14. 7 21.3 18. 4 18.0 16.0
MAEFEIT11 A 30 H BIZE
(3) FEMEEEIC X AMERE (NEEY)

SHEE | gEnd | Ak k| mEm | B | men ggﬁﬁ ﬁﬁgﬁ
5&mE| 8269/l 5% 15.0% 1% 2% 1% 0.3% 97% 100%
4% | 839g/l 2% 14.3% 0% 1% 0% 0.0% 100% 100%
6 FLRRERT R OV O JEYER 1T . FLRRERRI0. 4% .. F40. 2%
VARG - PR SRR AR PE M R A BIE
EIE FE 03(3502)8111  NHR4TT9
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I REH=

1 REMR
(1) BREHS (BELFRY)
FE SHSERE | HEF WMEIRE | SHakE | SHSEE
B RIHALL RIALL
(%) (%)
5 | K T 3,638.0 98.2 92.7 3,704.4 3,926.2
% % | BE T - - - - -
5 |BE R 80.9 115.2 124.2 70.3 65.1
W | B LK FE 163.3 96.2 94.9 169.9 172.1
®| 5 ke i 0.0 53.0 33.7 0.0 0.0
&t 3,882.3 98.4 93.2 3,944.6 4,163.4
£ 3y H 64.2 108.1 97.4 59.4 65.9
1 x X 562.6 92.4 114.6 608.6 491.1
F it 613.9 93.6 112.9 656.1 543.8
F:1) SOUFOBERCHTENRA—BLEVEEAHS.
2) ToJ) FEEISHEZVLWED, T-] FEBEEALZVEDETT,
3) FAHADHIZLADOHEIZ0.8FF LK KIBREDAE,
(2) HRAREHS (B FhY)
HAl | SF54E SH5E SMA4ERE
11B308IRAE [10A31BRE| (A)—(B) [xt(%)
(EEs] (A) (B) (10831 B 1%E)
5 | K T 3,638.0 3,283.2 354.8 80.4%
% % | BE T - - - -
5 |BE R 80.9 61.3 19.6 101.8%
W | B LK FE 163.3 126.3 3741 81.6%
®| 5 ke i 0.0 0.0 0.0 53.0%
&t 3,882.3 3,470.8 4115 80.8%
5 y #H 64.2 39.1 25.1 91.0%
1 EAE S 562.6 438.1 124.5 80.7%
F it 613.9 469.3 144.6 81.5%
T 1) BHELREREDRA Chb.
2) SOV FOBAGRTEEARN—HBLAEWNGELH D,
3) TOol [FEMEICHEEZEVWED., -] EBENLGEVEDETRT,
4) FAHADFHIZLADHEIZ0.8FFL-LKIBREDAEH,
(3) KFEIDHBZRKDEMRA L
ZER|IREHRE £ % A K £ ( % ) R
F E (Fro)| 1 = N 3 = 8  |sFry)
3,638.0 61.2 30.3 7.1 1.4 0.1
S & E <3,283.2> <61.3> <30.5> AN 1> <0.1>
3,704.4 78.7 18.0 2.1 1.2 0.2
4 F B (4523.2) (78.6) (175) 2.0) (1.8) 02)
3,926.2 83.1 14.4 1.4 1.0 -
3 ® E (4,794.6) (83.1) (13.8) (1.4) (1.7) -
SHEE—-—A4FE(KRA2F) -17.5 12.3 49 0.2 -0.1
5HEE—SFEE(RAVE) -21.9 15.9 5.6 0.3 -

EXEED)
2)

3)

SEEDTEROC >EZDHFF. SFI0AIBREDETH S,

AFERVIFEDTE (

) DETHD,

4)
5)

-] FEEATVLDETY .

AFERVUSEFEDLEROHFIE. AH (11ANRRKRTE) OETHD.
) EQORFIF., &% (BFI10RA31ER

9 FOBEBRTETERARA—HBLAEWVGEELH D,
M0 IFBEIICHE-HZWLED,




2 BENRENE

(BAI:k2)

g Al B |[KFWIELERXK[(KTMELEXRK|BERA XX |EfS2ERX|ERMLLERX
It & =E 414,110 369,923 42,099 2,088 - -
RIELEBE 1,217,305 1,163,043 41,029 13,233 - -
' & 167,427 165,284 734 1,409 - -
2 F 137,082 127,601 8,483 998 - -
= 189,556 183,688 4,826 1,042 - -
o H 292,356 271,195 17,321 3,840 - -
(1T 223,934 213,679 6,910 3,345 - -
z B 206,950 201,596 2,755 2,599 - -
BARERE 677,622 655,866 13,086 8,665 - 5
*x W 172,346 170,762 1,132 449 - 3
/7 N 159,497 156,749 600 2,146 - 2
B OB 22,774 22,563 59 152 - -
% E 40,188 39,998 59 132 - -
F OE 157,565 147,384 9,902 279 - -
’ K 62 41 - 21 - -
woE N 4,343 4,157 34 153 - -
(I TR 5,851 5,450 80 321 - -
E % 88,335 83,076 864 4,395 - -
B @ 26,660 25,687 357 617 - -
LBEEBUE 699,409 645,434 37,640 16,335 - -
B 437,895 398,047 29,870 9,978 - -
E W 112,456 105,504 3,864 3,088 - -
a2 78,671 75,114 2,370 1,188 - -
B H 70,387 66,769 1,536 2,082 - -
RAEBE 134,197 130,317 2,168 1,711 - -
B 28,004 26,021 1,299 684 - -
2 45,607 44,602 569 436 - -
= =B 60,586 59,694 300 591 - -
FHEBE 174,394 148,748 3,160 22,485 - -
# B 72,330 68,776 2,251 1,304 - -
®O# 20,237 19,345 156 736 - -
X R 4,408 4375 11 22 - -
E E 60,305 39,641 673 19,991 - -
= B 13,108 12,657 58 394 - -
M F; W 4,005 3,954 13 39 - -
FEREEBE 278,264 259,128 4807 14,329 - 0
B W 22,021 21,170 362 489 - -
B R 36,791 34,694 1,226 870 - 0
[ W 63,341 56,108 1,131 6,102 - -
L B 50,701 46,429 849 3,423 - -
w o 37,600 34,462 661 2,477 - -
m B 19,366 18911 65 390 - -
F 11,165 10,944 183 39 - -
Z  IF 17,536 17,266 131 138 - -
= A 19,742 19,143 197 401 - -
N EBRE 285,841 264,419 19,352 2,070 - -
BT @ 55,557 53,609 1,043 905 - -
' = 50,630 39,423 10,666 541 - -
E & 11,492 11,360 50 81 - -
[N 69,610 62,160 7,082 367 - -
X & 23,996 23,617 227 151 - -
= I 37,751 37,703 27 21 - -
B R B 36,805 36,547 256 2 - -
i 2 1,129 1,128 1 - - -
& Ha 3,882,270 3,638,007 163,343 80,915 - 5
E 1) SUCFOBERCHERNRA—BRLENGEAHIET .
2) TONFBEMEIZHGEWVED., T-1IEEESILZVBLDOERLTVET,
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2 EEHIRERE GIMALARUVEMARZK)

(k)

23 Al HHALAH|AHBXRX
it & & 748 40,253
REEBB 15,755 198,795
' & 9,971 39,041
5 F 3,003 22,604
T2 W 967 40,029
M H 52 20,050
[TTR 1 1,629 20,019
g B 134 57,053
BREKR 16,651 213,221
% W 2,659 69,503
LT N 5,443 65,960
B B 215 4,430
% E 1,073 12,908
F E 2,776 57,252
B X - -
w = N - 65
w3 101 8
& 1,120 796
B M| 3,264 2,299
LEEBRE 1,698 39,067
R 960 21,126
E W 703 5911
a - 4,760
B H# 36 7,270
HAaERE 8,928 20,206
g B 6,328 7,385
Z AN 1,170 5,542
= = 1,429 7.278
REERE 2,411 10,333
B B 477 7,492
" A 355 167
X B - 32
E E 1,579 2,448
= B - 194
M F W - -
FENEEKR 6,215 23,663
E W 378 932
5 #® 96 1,470
3 - 7,540
L B 3,630 451
w 1,689 4,039
m B - 3,410
F 321 187
ZE IR 95 1,305
= H 6 4,330
AMBBR 11,766 17,069
B M 334 3,025
& = 66 3,663
E 327 131
BB XK 684 4,105
X & 5,592 2,788
T 5 3,356 1,042
BE R B 1,407 2,316
i i - -
& &t 64,172 562,607
E: 1) SO FOBRCHERNRA—BLAENEENHY ET,
2) Tol [FEfEIZERLZWHED, -1 FEENGVILDOZE

~LTWET,
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3 FRAREHNE
(1) KIESIDEZHA

(B, %)

8 g _ B = # = % ® e ES
#  Et 1% 2 % 3 %5 | BNl 1% | 2% |3 % BN
&t & & 369,923 323208 27,490 6,174] 13,051 87.4 7.4 1.7 35
HILEHE 1,163,043 787,929| 340,058 28,469 6,587 67.7 29.2 2.4 0.6
& & 165,284 112,760 49,620 2,634 270 68.2 30.0 16 0.2
£ F 127,601 116,279 10,421 745 156 91.1 8.2 0.6 0.1
= 183,688 152,248| 27,733 2,830 877 82.9 15.1 15 0.5
# = 271,195 155,334| 97,587 14,397 3,877 57.3 36.0 5.3 14
1T 213,679 98,561| 109,618 4,473 1,026 46.1 51.3 2.1 0.5
= B 201,596 152,746| 45,078 3,390 381 75.8 224 1.7 0.2
BERERE 655,804 482,207 142573 24,132 6,892 735 21.7 37 1.1
* W 170,700 94.824| 67,215 8,104 557 55.6 39.4 47 0.3
LA N 156,749 131,880 22,702 1,494 672 84.1 14.5 1.0 0.4
B OB 22,563 14,708 6,500 1,306 50 65.2 288 5.8 0.2
% E 39,998 11,476 14,289 9,387 4,846 28.7 35.7 235 12.1
F o= 147,384 129,215 16,276 1,350 543 87.7 1.0 0.9 0.4
B R 41 - 2 37 2 - 5.7 90.0 43
M o= I 4,157 620 3,286 242 9 14.9 79.1 5.8 0.2
1T 5,450 3,919 1,334 186 12 71.9 245 34 0.2
£E B 83,076 75,919 6,268 825 64 91.4 75 1.0 0.1
% [ 25,687 19,645 4,701 1,202 138 765 18.3 47 0.5
LEERE 645,417 241,264 244,074| 146,039 14,039 37.4 37.8 22.6 22
I = 398,030 62,729| 186,778 137,102 11,420 15.8 46.9 344 2.9
E W 105,504 62,700 36,229 6,109 465 59.4 343 5.8 0.4
a 75,114 59,948 13,509 1,338 319 79.8 18.0 18 0.4
B H 66,769 55,887 7,558 1,490 1,835 83.7 1.3 2.2 2.7
WiRElE 130,317 48,726| 69,494 11,015 1,083 37.4 53.3 85 0.8
g B 26,021 13,020 11,165 1,296 540 50.0 429 5.0 2.1
2 A 44,602 17,178 19,599 7,452 374 385 439 16.7 0.8
= = 59,694 18,528 38,729 2,268 169 31.0 64.9 3.8 0.3
ERERE 148,748 78,959 60,766 8,423 599 53.1 40.9 5.7 0.4
#OB 68,776 38,020| 28,740 1,883 132 55.3 4138 2.7 0.2
" O 19,345 10,998 6,461 1,750 136 56.9 334 9.0 0.7
X R 4,375 1,736 1,997 619 23 39.7 456 14.2 0.5
B & 39,641 16,043 20,009 3,394 196 405 505 8.6 0.5
= B 12,657 11,028 1,366 213 50 87.1 10.8 1.7 0.4
M O# oW 3,954 1,134 2,193 563 64 28.7 555 14.3 16
FEMEEERD 259,128 158,576] 86,133 12,132 2,287 61.2 33.2 47 0.9
B W 21,170 10,546 9,366 1,185 73 498 442 5.6 0.3
E 34,694 19,377 11,600 2,976 742 55.9 334 8.6 2.1
2 56,108 41,692 12,690 1,366 360 743 226 24 0.6
5 B 46,429 39,403 6,263 690 74 84.9 13.5 15 0.2
W A 34,462 26,241 7,124 952 146 76.1 20.7 2.8 0.4
m B 18,911 8,041 9,346 1,322 202 425 494 7.0 1.1
E N 10,944 1,833 8,526 561 24 16.7 779 5.1 0.2
2 IE 17,266 7,763 8,561 699 243 450 496 4.1 14
= A 19,143 3,682 12,657 2,381 423 19.2 66.1 12.4 2.2
MW B 264,419 105,757| 132,346 20,980 5,336 40.0 50.1 7.9 2.0
B M 53,609 10,810 38,544 2,790 1,464 202 71.9 5.2 2.7
t =B 39,423 26,789 11,389 498 747 68.0 28.9 13 1.9
E & 11,360 5,994 4,932 357 76 52.8 434 3.1 0.7
N 62,160 20,613 36,906 3,088 1,553 33.2 59.4 5.0 25
X & 23,617 13,103 9,362 976 176 55.5 39.6 4.1 0.7
=g 37,703 15,727 12,932 8,194 850 417 343 21.7 2.3
BE R B 36,547 12,720 18,282 5,076 469 3438 50.0 13.9 13
] 1,128 642 350 101 36 56.9 31.0 8.9 3.2
& & 3,637,928| 2,227,269| 1,103,283| 257,465 49,911 61.2 30.3 7.1 14
E: 1) SO FDOBERCHENRA—BLAENBEAHY £ .
2) ToJ [XEMEISHEEZZVLDED. -1 FBEENGZVEDERLTVET,
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_(2) KiEEHRK

(BAr:b, %)

el

8 g [ = 0 % & t =
#wF % 2 % 3 % [BEal 1% | 2% | 3% |HEs
I & B 42,099 40,377 780 34 907 95.9 1.9 0.1 22
REEBR 41,029 11,679 25,355 3,061 934 285 61.8 75 23
' & 734 135 579 17 3 18.4 78.9 2.4 0.4
a5 F 8,483 5,096 2,040 952 395 60.1 24.0 1.2 47
7 W 4826 570 3,563 689 5 11.8 73.8 14.3 0.1
M H 17,321 571 16,055 458 237 33 92.7 2.6 14
(T 6,910 3,665 2,189 797 258 53.0 31.7 1.5 3.7
E B 2,755 1,643 930 147 35 59.6 33.7 5.3 1.3
BREKR 13,086 9617 2,968 399 103 735 22.7 3.0 08
*x W 1,132 582 449 73 28 514 39.6 6.5 2.5
TP N 600 450 129 15 6 74.9 215 2.5 1.1
BB 59 21 18 20 0 36.0 30.3 33.3 0.4
B E 59 21 20 16 2 35.2 348 26.7 33
F ¥ 9,902 7,630 2,015 227 29 77.1 204 2.3 0.3
B = -
w &N 34 1 27 4 2 2.4 80.0 12.8 48
W F 80 33 17 4 26 414 21.8 44 324
E % 864 638 198 22 5 73.9 23.0 2.6 06
B [ 357 241 93 18 4 67.6 26.2 5.1 1.1
ERBE 37,640 19,346 16,161 1,791 343 51.4 429 48 0.9
R 29,870 13,725 14,573 1,322 250 45.9 48.8 44 0.8
E W 3,864 2,813 837 190 24 72.8 21.7 49 06
a n 2,370 1,507 527 268 68 63.6 22.2 1.3 2.9
B H 1,536 1,302 224 11 - 84.7 14.6 0.7 -
RARKE 2,168 935 1,043 174 16 43.1 48.1 8.0 0.7
B B 1,299 747 450 92 10 575 346 7.1 0.8
2 M 569 138 386 41 5 24.2 67.8 7.1 08
= & 300 51 207 41 1 16.9 69.0 13.8 0.3
blig 3 Y54 3,160 406 2,102 616 36 12.9 66.5 195 12
OB 2,251 128 1,625 469 30 5.7 72.2 20.8 1.3
" OB 156 8 119 26 2 5.2 76.5 16.7 15
X B 11 1 6 4 0 13.6 515 32.9 1.9
E E 673 269 301 100 3 40.0 448 14.8 0.4
=x= R 58 0 45 11 1 0.4 78.1 19.6 1.9
O oW 13 - 6 6 1 - 43.7 50.7 5.6
FERERRE 4,807 1,849 2,346 518 95 385 488 10.8 20
B 362 188 148 26 0 51.9 410 7.1 0.0
E B 1,226 631 406 163 27 51.4 33.1 13.3 2.2
@l 1,131 98 909 96 28 8.7 80.4 8.5 24
5 B 849 380 334 132 3 448 39.3 15.6 0.4
w A 661 509 124 26 3 77.0 18.7 3.9 0.4
B 65 13 42 6 4 19.6 64.4 9.3 6.7
EF 183 26 129 28 1 14.1 705 15.2 0.3
Z B 131 3 91 15 22 2.3 69.6 1.1 17.0
5 A 197 0 163 27 7 0.1 82.7 13.6 3.6
AMEBBB 19,352 7073 11,397 616 267 365 58.9 32 14
B M 1,043 118 790 84 51 1.3 75.7 8.1 49
&t = 10,666 6,380 4,128 67 91 59.8 38.7 0.6 0.9
E & 50 41 4 3 2 80.9 8.0 6.9 43
B XK 7,082 489 6,158 344 91 6.9 87.0 49 1.3
X & 227 8 207 10 2 3.6 91.1 43 1.0
T I 27 1 7 14 5 5.1 26.6 51.9 16.5
BERE 256 36 102 93 25 13.9 39.9 36.5 9.7
Fad 1 - - - 1 - - - 100.0
& Bt 163,343 91,283| 62,151 7,208 2,701 55.9 38.0 44 1.7
E: 1) SO FOBRCHENRA—BLAENBEAHY £ .
2) To) FEMEIZERGZVED. -] FEENGTVLOERLTVET,

-6-




(3) EEERATK

(BAr:b, %)

w5 & 2 B & % W k=
BRE gt | HvE(1% |2 % F | BEEalE i E1 %2 F3 FH(mssn
I & & 2,088 - 196] 1,813 42 24 14 -| 94| 868 20|/ 11| 07
RILRKR 13,233 11 392| 9,139 2,528| 1,093 70| 0.1 30| 69.1] 19.1] 83| 05
' &K 1,409 - 128| 1,207 69 4 - - 91| 857 49 03 -
A F 998 - - 305 423 271 - - -| 305| 423 27.1 -
T W 1,042 - - 157 359 524 2 - -| 151 34.4| 503 02
M H 3,840 - -| 3,186 539 95 20 - -| 830 140| 25/ 05
(T 3,345 11 262 2,182 683 161 47| 03| 78| 652| 204| 48| 14
g B 2,599 - 2| 2,103 455 39 1 -| 01| 809| 175 15| 00
BERERR 8,665 7 338| 6,805 924 435 156] 0.1 39| 785| 107] 50| 1.8
x W 449 - 29 212 86 116 6 -| 65| 472| 191 258| 14
TP N 2,146 7 281 1,479 197 48 135] 03| 13.1| 689 92| 22| 63
BB 152 - - 100 38 14 - - -| 65.7| 25.4| 89 -
B E 132 - - 64 53 7 7 - -| 485| 406| 52| 57
F ¥ 279 - - 230 41 8 - - -| 824 145| 30 -
B =R 21 - - - 0 21 - - - -[ 01| 999 -
w &N 153 - - 74 39 39 1 - -| 486 255| 253 06
(T} 321 - 1 238 58 18 6 -| 04| 742| 179 57| 17
E % 4,395 - -| 3994 308 93 1 - -| 909 70| 21| o00
B 617 - 27 414 105 71 1 -| 43| 67.1] 170 115] 01
ERBRE 16,335 - -| 6583] 8356 1,290 106 - -| 403[ 512 79| 0.7
OB 9,978 - -| 1941| 6,687 1246 103 - -| 195 670| 125/ 10
E W 3,088 - -l 1937] 1,142 9 - - -| 62.7] 370/ 03 -
a n 1,188 - - 954 217 15 1 - -| 804 183] 12| o1
B H 2,082 - -l 1,751 310 20 2 - -| 841| 149] 09| o1
RERKE 1,711 2 545 815 292 50 7| o1 318 476 17.1] 29| 04
B B 684 - 424 217 40 2 2 -| 619 316/ 58 04| 03
2 A 436 - 6 283 135 11 0 -| 15| 650] 309 25 o1
= & 591 2 115 315 118 36 5] 04| 194| 533] 200/ 6.1 08
big_3: ¥4 22485 1,2372| 12,808 4,045 2,032| 1509 720] 6.1| 570 180 90| 6.7 32
OB 1,304 - 41 668 477 80 37 -| 32| 51.3] 366 62| 28
" OB 736 - - 335 298 96 7 - -| 455 405| 13.1] 09
X & 22 - - 1 7 12 1 - -| 67| 336| 562 35
E E 19,991 1,372 12,745 2.824| 1,119 1,263 670 69| 63.7| 141 56| 63| 34
= B 394 - 22 216 100 50 6 -| 56| 549| 253| 127 15
M oW 39 - - - 31 8 - - - -| 79.7] 203 -
FENERRR | 14,329 5 3005 8116 1,386 1,256 561] 00| 210| 566 97| 88| 39
B 489 - 24 234 180 47 5 -| 49| 478 368| 96 10
5 R 870 - 6 519 251 86 7 -l 07| 59.7| 289] 99| o8
@ W 6,102 5 280 4,383 315 713 405 o0.1| 46| 718 52| 11.7] 6.6
L B 3423 -l 1,803| 1,243 226 62 89 -| 527| 363| 66| 18] 26
w A 2477 - 576 1,480 149 222 50 -| 232 598] 60| 90| 20
B 390 - 281 76 - 32 1 -| 72.0] 194 -| 82 04
F 39 - - 15 18 6 - - -| 388| 46.7| 145 -
2 B 138 - 26 49 51 12 2 -| 186| 352| 366| 86] 1.1
= A 401 - 10 116 197 77 2 -| 24| 290| 49.1| 191 04
AMBBD 2,070 - 44| 1,465 320 178 63 -| 21| 708| 155/ 86| 3.0
B @ 905 - - 706 154 36 10 - -| 779 170| 40| 1.1
&t =B 541 - 26 448 29 9 29 -| 49| 828] 54| 17| 53
£ & 81 - 1 13 44 20 3 -| 15| 157 54.4| 242| 41
N 367 - 7 275 33 40 11 -l 20| 751 9.1| 109 30
X & 151 - 9 24 53 64 2 -| 58| 157 35.1| 421 13
T 1A 21 - - - 5 8 8 - - -| 244| 378| 377
BE R E 2 - - - 1 1 - - - -| 43.4| 566 -
5 -
& &t 80,915 1,397| 17,328 38,781| 15,880 5,833 1,697 1.7 21.4| 47.9| 196| 7.2 21
E: 1) TV FOBRCHERNRD—BLAEVBEAHYET .
2) ToJ FEAMEIZERGZVED. T-1 FEENGVLOZEZRLTVET,
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(4) gAHALHEUEMARK

(BAr:b2, %)

2 g BEH=E (1 a) |FHEERER) T FRER(KXK)

il & ® BNl d& % [HEs w g & ¥’ & #% [EEN

I & B 748 748 - 100.0 - 40253 40,247 7 100.0 0.0

REEERE 15,755 15,755 - 100.0 - 198,795| 198,788 7 100.0 00

' & 9,971 9,971 - 100.0 - 39,041 39,039 2 100.0 0.0

a5 F 3,003 3,003 - 100.0 - 22,604| 22,604 - 100.0 -

7 W 967 967 - 100.0 - 40,029 40,024 5 100.0 0.0

M = 52 52 - 100.0 - 20,050( 20,050 - 100.0 -

(TT 1,629 1,629 - 100.0 - 20,019 20,018 1 100.0 0.0

E B 134 134 - 100.0 - 57,053| 57,053 0 100.0 0.0

BARERE 16,651 16,651 - 100.0 - 213,221| 213,218 2 100.0 0.0

*x W 2,659 2,659 - 100.0 - 69,503| 69,503 - 100.0 -

TP N 5,443 5,443 - 100.0 - 65,960 65,960 100.0 -

BB 215 215 - 100.0 - 4,430 4,430 100.0 -

B E 1,073 1,073 - 100.0 - 12,908| 12,906 100.0 0.0

F ¥ 2,776 2,776 - 100.0 - 57,252 57,252 100.0 -

B = - - - - - - - - -

wx) - - - - - 65 65 100.0 -

w3 101 101 - 100.0 - 8 8 100.0 -
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B K 599 70.9 28.9 0.1 0.2

X & 36 99.6 0.4 - -

T 277 86.3 9.2 27 1.8

B R B 190 6.3 86.2 74 -

i FE #2 WA 26 93.8 5.8 0.3 -

N E 24,371 62.1 32.6 48 05

SLExF—Hv— F oE 0 100.0 - - -

4B 15 24.6 25.7 498 -

N E 15 26.1 25.2 488 -

ILF—TJotER #? = 259 3.8 96.2 - 0.1

E B 25 477 29.6 19.8 3.0

BB 4 20.5 79.5 - -

M oW 0 - - 100.0 -

i FE 82 WA 5 37.6 35.7 8.9 17.8

N E 293 8.3 89.2 1.9 0.6

=S = 56 85.9 9.0 5.1 -
TEI=ENE E B -

BEo<L E [ 69 64.5 30.8 47

HAZNEG M | 16,004 50.0 425 7.0 05
i 18 84 1A -

N E 16,004 50.0 425 7.0 0.5

BHAADY = F 156 57.4 42.6 - -

=/ 3,323 83.0 13.6 3.4 0.1

M | 1,788 6.0 75.7 16.6 1.8

W 116 39.3 49.0 11.7 -

*x B 21 - 100.0 - -

F oE 333 69.5 30.5 - -
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(B k. %)
=

o = % & e

W E B E [ 2 % [ 3 E [BRA
BHAHDY (DDE) an FE #2 4A -

N E 5,740 56.3 35.8 7.3 0.6

HFDESA EES 6,635 9.5 86.5 3.4 0.6

LLI#Z955  # 1,404 58.2 38.1 3.6 0.1

PEEDHL ;R 150 37.1 22.4 29.0 115

W o 298 49 1 50.3 0.6 -

B X 619 8.4 75.9 15.7 0.0

i FE 82 WA 354 24.7 63.6 11.7 -

N E 1,420 24.0 61.9 12.9 1.2

PFENLFK = 53 51.6 48.4 - -

aucdwbill] = E 5 6.7 93.3 - -

M oW 2 - 68.2 7.6 24.2
B -

N 7 438 86.1 2.2 7.0

Ww5711v21 W 33 80.7 19.3 - -

T B 57 100.0 - - -

*x 1 80.1 19.9 - -

K 805 80.4 15.7 3.9 0.0

B E 0 - 100.0 - -

F o 70 439 - 3.0 53.1

E W 719 88.0 10.0 1.7 0.3

a 2 75.8 24.2 - -

HoE 115 63.2 32.8 40 -

E E 2 100.0 - - -

i 18 84 1A 20 65.3 27.3 7.4 -

N 1,834 81.4 13.7 2.8 2.1
PhDE E E -

WEEED =5 F 0 - 100.0 - -

ECHA i | & 875 49.2 49.3 1.2 0.2

PEIDOH i & & 530 87.5 11.6 0.9 0.0

EDE o8 693 14.6 76.9 7.9 0.6
i 18 84 1A -

N E 693 14.6 76.9 7.9 0.6

pEDIEA ' & 4 76.7 23.3 -

EnF i i & -
PEDHSH i & & -

wEuomny i i & 310 94.1 5.6 0.3 -

RELITY =R 80 94.1 5.9 -

PELDOH i & & 22 88.3 15 - 10.2

EEA TR 20,309 87.3 12.5 0.2 0.1

wEAFE ) 21,306 60.3 34.9 40 0.8

DHHT S 5 F 865 75.6 17.9 6.4 -

=0 359 37.3 54.2 85 -

N E 1,224 64.4 285 7.1 -

Z—k 2= [ 251 0.4 97.0 26 -

ETRYIE{A W 57 226 77.4 - -
i FE 82 WA -

N E 57 22.6 774 - -

PHESIH OB 889 64.3 33.1 22 0.4

POHHIEZ M | 5,367 15.9 46.9 36.0 1.2
i FE 82 WA -

N 5,367 15.9 46.9 36.0 1.2

Wp&HMNEZ F E 2 100.0 - - -

BEZCH [T 202 62.6 35.3 2.0 -

= B 27 83.6 16.4 - -

*x B 43 70.0 30.0 - -

m K 14 100.0 - - -

F OE 5 100.0 - - -

o o8 49 - 35.0 57.9 7.0

E W 7 100.0 - - -

a N 46 89.3 10.7 - -

2 H 16 23.1 - 76.9 -

£ % 35 100.0 - - -
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(B b %)
&=

h B E a8 E 2 % [ 3 Z [HRR
B (DDF) I B 29 - 93.0 7.0 -
= = 309 56.0 440 - -
HoE 427 40.7 56.7 22 0.4
B 74 915 8.5 - -
E [E 52 66.5 335 - -
N E 1,337 55.0 40.4 42 0.4
ZLIK 5 B 13,627 75.3 23.8 0.7 0.1
Ww&HLAED £ ¥ 212 98.8 1.2 - -
i FE 82 WA -
N E 212 98.8 1.2 - -
Z22o<L 2 [ 29,570 9.5 83.0 6.5 1.0
EAOE3 % B 7 100.0 - - -
E & -
B B -
@ W -
L B 1 100.0 - - -
i FE 82 WA -
N E 8 100.0 - - .
aAEAHY X » -
Ww&HU =B x 900 37.2 435 18.3 1.1
pHUI=H BB -
i 8 84 1A -
N E 900 37.2 435 18.3 1.1
PHVYH i i & 105,416 88.6 8.8 2.6 0.1
wHEDY B OB 1,522 491 40.6 9.9 0.4
AN 915 1.7 48.6 48.6 1.0
i 8 84 1A 7 100.0 - - -
N E 2,445 315 435 24.3 0.7
WpoHHLE B M -
WHHDIFE a 18,601 87.7 11.1 1.1 0.1
EHDLY OB 10 21.1 14.9 64.1 -
LSEEA 2 A 406 51.1 44.4 42 0.3
LA g M 6 100.0 - - -
B B 112 100.0 - - -
E & 103 86.1 5.2 8.7 -
i 18 84 1A -
N E 221 93.5 24 4.1 -
L—465 B 784 54.8 44.4 0.8 -
HEtHA BE K 2 36.7 63.3 - -
EhRERW(RERESD, )5t 3,583,117 61.7 30.4 7.0 0.8
“ % = B = 3,637,928 61.2 30.3 7.1 14

EF:01)

SV FOBBRTHERNRA—BLAEVNEENH S,
2) T0) XEFIZELENED. -] FBEEAEVEDETRT,

3) HMBRERECHEMRGEHRMLUNOHELEENI-OEMMBERARTE—HLAL,
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(2) KiEtbRK

(B b, %)
o n = S & ke =
o g E i #w 3 = > = 3 = (BB
EEA B M| 36 59.1 32.3 74 1.1
HMrYEH F &K 712 18.6 78.9 2.4 0.1
[ " F 142 - - - 100.0
oA 201 - - - 100.0
W 12 - - - 100.0
= B -
w3 26 - - - 100.0
= 1 - - - 100.0
N 381 - - - 100.0
FAIAETF 5 & 1 - 100.0 - -
HAEDD g2 B -
R¥E245 a 343 51.0 33.9 10.8 42
FRAETF E I -
hIYEF = F -
hISEF E W 42 73.6 26.4 - -
A 806 65.1 23.0 9.2 2.8
2 H 836 91.7 7.5 0.8 -
N F 1,684 78.5 15.4 48 1.3
BDFELL 1 & & 18,168 97.4 2.5 0.1 0.0
E5E EEEN 30 2.7 81.8 11.2 43
L HEE 1t & & 1 - - - 100.0
G 5 i B & 921 100.0 - - -
=wELHE 1t & & 8,237 99.7 0.3 - -
EHDIEE o H 4,001 85 84.7 6.5 0.3
FRIFHLE K 449 81.5 17.7 0.6 0.3
FhiHVEE Ik B 38 - 90.4 9.6 -
IUFAEF EF 173 11.3 73.0 15.4 0.3
= ® 64 46 89.4 6.0 -
N 237 95 77.5 12.8 0.2
HERESS BB 36 16.2 37.2 46.4 0.2
Zhhts 5 F 980 23.4 52.2 20.6 3.9
M B 134 2.7 67.9 29.2 0.2
T 48 64.5 13.7 21.8 -
Bm B 1,261 446 439 9.3 2.2
*x W 2 244 - - 75.6
;o8 13,775 46.5 493 35 0.6
E W 92 93.0 7.0 - -
T 47 69.0 242 6.7 0.1
N 16,339 45.0 48.8 5.3 0.9
ZCDZA1E EES 9 - 100.0 - -
Oa/IEF g B 11 34.9 39.7 18.9 6.5
F M 38 33 88.7 8.0 -
B B 297 82.6 12.9 25 2.0
W 121 6.4 67.4 21.3 5.0
5 B 200 24.8 55.6 19.2 0.4
N F 666 46.2 40.3 11.5 2.0
% ) Z M 69 7.4 86.6 5.3 0.7
—t5%F5% =2 W 44 50.0 49.8 0.2 -
cELS o 568 75.3 21.1 3.4 0.2
HAIAEF = 15 - 38.8 43.8 17.4
EHEZE T 13 - 22.8 772 -
=OFEHLD BE R B 16 - 5.9 75.1 18.9
SDFEELH BE R B 10 - — - 100.0
DFELL BERE 189 18.9 41.3 34.7 5.2
HEN_FRE & B 2,054 5.0 72.2 22.0 0.9
A EPFE 5 & 2 - - - 100.0
BE ;B 0 — - - 100.0
+h%EE Z M 175 27.9 65.8 6.2 0.0
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(BAI:b. %)

O n = 3 & e =

i i E R )R EH T2 3 2 [aRs

=R A 850 65.6 15.1 15.7 3.5

HKIERE E W 2,115 63.1 30.0 5.8 1.1

a 366 67.0 26.4 6.2 0.4

= ¥ 2 100.0 - - -

N 2,482 63.7 29.4 5.9 1.0

HP—ERE = # 154 5.3 77.3 16.9 05

IR E W 3 — 96.5 35 -

ERAYARNS) B HE 0 - 100.0 - -

=hoEdHL Iz B 1,141 62.8 30.8 5.8 0.6

=2Z¥H M | 10,357 1.8 96.6 1.4 0.2

W # 11 - 100.0 - -

N 10,368 1.8 96.6 1.3 0.2

=FU0HEH = AN 54 - 87.6 7.9 45

BOFADEF B 583 90.2 9.1 0.7 -

YEIEF F E 41 9.8 88.8 14 -

THhDLb W 640 41.1 52.6 6.0 0.3

EEHELD M H 2,526 0.3 99.4 0.3 -

EHEMD E W 1,132 95.2 47 0.0 0.2

[F<BLSEE it & & 13,870 97.7 2.2 0.1 -

ININET E m 86 10.6 73.6 15.7 0.1

ITYFELH E E 267 450 38.4 16.5 0.0

EFIEF 2 65 0.3 88.5 8.4 2.8

k= 32 64.0 34.9 1.1 -

N B 97 21.4 70.7 6.0 1.9

EA/EF F & 19 11.7 88.3 - -

5 F 6,938 66.8 21.0 10.2 2.0

= O 76 97.9 1.3 0.8 -

M | 49 35 73.7 228 -

[T 5,313 51.6 30.8 135 40

E= B 1,489 72.2 25.3 2.0 0.5

*x W 241 51.6 40.8 2.8 438

m K 43 30.3 55.9 7.4 6.3

F o= 6,499 84.2 14.0 15 0.4

£ % 155 86.5 12.5 1.0 0.0

B 129 - 99.9 0.1 -

B W 268 66.8 30.2 3.0 -

E R 549 53.2 27.4 17.0 2.4

W 792 8.4 85.0 5.8 0.7

h B 569 555 36.5 7.9 0.0

N F 23,131 65.4 25.1 7.6 1.8

E3IVEF T A 136 41.0 425 16.5 -

= B 38 - 91.3 8.4 0.3

W o 234 88.7 5.3 6.0 -

= M 956 12.3 82.5 35 1.6

5 B 10,555 60.2 39.0 0.6 0.1

E & 45 89.9 6.9 3.2 -

B K 6,249 4.6 91.3 3.7 05

X » 214 0.9 955 3.6 -

N E 18,426 38.4 59.3 2.0 0.3

SENEL F ¥ 530 73.7 24.4 1.9 -
shyts L B -

RTIETF *x W 716 52.0 37.7 9.1 1.2

F = 298 37.4 53.8 8.3 0.5

B 27 79.0 20.8 - 0.2
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(BAI:b. %)

o n = % & 54 Fid
w R E R R F 22 % [ 3 & [Han
TUTYEF(DDE) g [E 129 - 80.6 17.6 1.7
w g 73 58.4 37.1 33 1.2
N E 1,244 44.0 45.6 9.2 1.1
FASKES B 16 85.5 5.7 8.6 0.2
IahETF B R 207 7.1 67.6 23.3 2.0
QLIS T 4 - - - 100.0
EOELL B E 14 - 57.3 40.8 1.9
F = 2,463 65.7 30.4 3.9 -
£ N -
B m 191 77.6 18.7 2.9 0.8
% B -
E #® 150 47.9 45.9 36 2.7
N 740 26.8 57.4 15.5 0.3
B R B 26 - 38.6 56.5 49
INE 3,583 56.9 36.2 6.7 0.3
HRIHhRESE = W 4,705 10.1 75.2 14.6 0.1
SYARAYEF W a 349 73.8 22.9 2.7 0.5
B B H# -
HAZEH 52 F 50 98.6 1.4 - -
L50MY E % 282 76.6 20.5 2.9 -
EEA "5 F 194 37.0 34.7 14.4 13.8
EFI/Y m K 12 79.0 18.8 2.3 -
g B 97 23.1 58.7 16.4 1.8
M ;W 10 - 46.9 47.2 5.9
m B 37 13.7 66.0 10.8 9.4
Z 7 5 - 448 48.1 7.2
N E 161 22.9 56.2 17.1 3.8
EVEUETF E % 245 71.7 20.2 20 0.0
YoOEF B R 11 54.2 223 23.4 -
- 37 20 53.7 37.7 6.6
N E 48 14.0 46.5 34.4 5.1
ILzfE128% W 130 73.6 26.4 - -
YIIVETF Tk E 172 63.1 23.2 13.7 -
Al E ) B2 F 49 - - - 100.0
o H 2 - - - 100.0
N E 51 - - - 100.0
WwEHDY E 83 - 100.0 - -
WpEHSL a8 3,956 215 72.3 39 2.3
LLV5£5%5 E W 59 53.6 33.4 13.0 -
Hi=1F5L ;a8 11,561 53.9 40.2 5.3 0.6
EEHh R IESRARET 158,928 56.6 38.2 43 0.9
WREH=E 163,343 55.9 38.0 4.4 1.7

E:1) SVURDORGBRTEIHERNRN—BLLEWNEELNH S,

2) TOJIFBEFICHEELZEVED, T-IIEEELLZNEDETT,
3) MBREHREICIERGERALUNOBRELSTENS-OEMRIERAETE—EBLELY,
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(3) BERXK

(BAI:b. %)

=] n = % & e =

o E X \RBH mrTra[18]2% 3 % AR

21 E E 560 21.9 65.5 9.4 1.2 0.8 1.1

MEECED . H 2272 - - 80.2 17.2 2.0 0.6

Y | 9 - - 100.0 - - -

HIJIB30E a i 1 - - 100.0 - - -

AlEGSE a 153 - - 68.9 26.5 3.8 0.8

&M a 93 - - 92.4 7.6 - -

1FELER = B 9 - - - 49.2 22.0 28.9

E & 3 - 100.0 - - - -

N 13 - 27.3 - 35.7 16.0 21.0

—iER M H 60 - - 941 - 5.9 -

— K~ o B 129 - - 76.3 13.2 8.5 2.0

WZILAZDE E & 14 - - 76.0 24.0 - -
BEDE Iz B -

L " # 390 - - 55.0 355 95 -

FME W 56 — — 64.5 11.7 22.8 0.9

BOE E & 29 - 35 80.9 1.0 145 -

BLUEFEN E H 11 - - 100.0 - - -
AT T ¥ -

W= 2 - - - 22.2 778 -

X B 3 - - - 455 54.5 -

E E 14 - - 43.3 56.7 - -

B 2,756 0.2 9.4 66.7 5.4 11.2 7.1

=" 94 - 68.4 13.4 17.0 1.2 -

F 3 - - - - 100.0 -

= | 3 - - 100.0 - - -

X & 1 - - - - 100.0 -

N 2,876 0.2 11.3 64.7 6.1 11.0 6.8

B LU £ E W 326 - - 76.3 23.7 - -

o B AT B | 65 - 35 67.0 22.4 7.1 -

HBER M om| 99 - - 90.7 9.3 - -

W 35 - 13.0 86.5 - - 0.5

¥ B 10 - - 75.2 24.8 - -

N 144 - 3.1 88.6 8.1 - 0.1

RE/I\RR B | 21 - - 99.7 0.1 0.1 -

RIEF = 10 - - 32.3 - 67.7 -

FEToY = B 172 - 10.2 74.8 15.0 - -

HOE 5 B 27 - - 43.0 32.9 5.9 18.2

FK B 75 - - - - 100.0 -

E=L3Y i & & 358 - 95 86.3 1.7 25 -

s T 14 - - 100.0 - - -
HDE W -

HDEIF 2 B 5 - - 97.8 - 22 -

s EIEF T & 77 - - 85.4 14.6 - -

FAEED =5 F 348 - - 414 56.2 24 -

BEAD 2 F 489 - - 26.3 30.8 429 -

KDL = B 149 - - 70.0 30.0 - -
BoxL (1T~} -

@ W 5 - - 75.3 - - 24.7

m B 4 - - 100.0 - - -

g [ 43 - - 89.9 2.6 75 -

B K 10 - - 96.9 - 3.1 -

NI 26 - - 45 86.1 8.1 1.3

N 88 - - 65.4 26.5 6.4 1.7

D = 145 — - 62.5 33.3 3.7 0.5

Z0Y 2 = 283 - 3.4 34.6 46.8 14.7 0.6

s i i & 1,026 - 6.0 92.8 0.7 0.5 -

BWRE B B 207 - 16.4 30.2 451 7.8 0.4
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(BAI:b. %)

5 P @ s F & it &=
B LE | B E|1 % Z | 3 % |HEH
EHER E 236 — - 80.8 16.0 3.2 -
NEEE = 16 - - 27.3 - 72.7 -
BDE B 688 - - 0.9 28.5 70.5 0.1
—W\BFDL 5 18 - 99.8 0.2 - - -
RA g 88 - 17.7 41.1 32.4 7.3 15
AR EE B 42 - - 48.7 31.7 19.5 -
AR EE B 1,116 - - 19.7 57.3 22.0 0.9
HDE E H 123 - - 100.0 - - -
=% 5 & 20 - - 100.0 - - -
EA=psEa) [T 3 - - 100.0 - - -
m= B 711 - - 81.1 18.4 0.6 -
% W 83 - 2.1 64.3 23.6 2.7 7.2
m K 310 1.1 13.5 69.0 11.6 1.6 3.2
B B 42 - - 65.9 31.4 2.7 -
B E 32 - - 453 445 10.2 -
F = 123 - - 93.4 6.6 - -
o8B 7,482 - - 171 74.3 8.1 0.4
E W 2,103 - - 52.7 473 0.1 -
a 849 - - 81.4 17.7 0.9 -
= FH 1,733 - - 83.7 16.0 0.3 -
g B 16 - 11.8 35.1 485 0.8 38
B8 M| 16 - - 10.7 62.6 26.7 -
= E 58 - 17.3 52.1 30.3 - 0.3
= A 180 - - 31.2 458 23.0 -
X B -
£ E 554 - - 18.9 70.5 9.5 1.1
n & W 13 - - - 945 55 -
B W 71 - 7.8 5.6 81.9 4.7
B R 414 - - 69.1 23.6 6.9 0.4
W o -
X & 22 - - 15.0 46.8 38.2 -
N B 14,815 0.0 0.4 40.7 53.3 5.3 0.4
71345 ' =B 10 - - 23.9 76.1 - -
DT i a 195 - 11.0 74.0 8.5 0.1 6.5
EE 5 1B 145 - 1.8 50.2 33.9 13.6 0.4
=HNE E= B 192 - - 98.2 1.8 - -
SHhIFEN = H 106 - - 96.0 40 - -
BERE T 223 - 3.2 57.2 30.9 7.1 1.6
SIHERE % E 72 - - 49.7 43.2 - 7.0
BEEMES B3 B8 24 - - 6.4 64.0 29.6 -
SR E % 441 - - 83.4 12.7 3.8 -
L9<iE T 1B 110 - 235 39.4 26.3 10.8 -
ERE 2 B 48 - — 95.3 - 47 -
Y NES E % 83 - - 87.9 10.6 1.3 0.2
=k E & 9 - 100.0 - - - -
FHILAE1S E E 12 - 45.2 48.3 6.4 - -
#HAh B H 3 - - 52.4 - 476 -
k E 15 - - 13.9 85.7 - 0.4
EE K 30 — - - - 100.0 -
N E 48 - - 7.2 27.6 65.0 0.1
HEESR E & 8 — — - 100.0 - -
=3 bt & 3 669 - 15.0 79.9 3.7 1.4 -
F AR 1N 163 - 90.9 8.3 0.2 0.6 -
f=h1ass i 380 - - 10.4 45.6 432 0.7
£ 6 - - 100.0 - - -
i 1 - - - 100.0 - -
N 387 - - 11.8 451 42.4 0.7
BEE%D £ 34 - 474 36.0 8.8 7.9 -
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(BAI:b. %)

o B E R \BE m T TRre 18253 % [REA
BEDNZEELF w2 28 - - 31.0 435 255 -
Ex w3 39 - - - 78.4 9.5 12.2

# B 247 - - 48.0 51.7 0.4 -
M ;oW 8 - - - 100.0 - -
B 78 - - 39.0 55.1 5.9 -
N E 371 - - 40.1 56.2 25 1.3
HIEDFEL = 2 - — - 79.4 20.6 -
T = R 134 - - 96.4 3.4 - 0.1
HPg < W 1,354 - 1.6 63.9 26.7 7.7 0.2
HEDE 1T 573 - 26.1 63.7 9.8 0.3 0.1
HEDE E E 4 — - 100.0 - - -
TiERE S 77 - - 19.9 69.5 10.5 -
EBEEE14 m K 28 — - 100.0 - - -
ENE = W 34 - - - 79.3 20.7 -
2E W 4 - — - 100.0 - -
E&E1055 g W -
FEE E E 8 - - 53.5 35.8 10.7 -
B#E5R E &E 219 - 34.1 64.2 1.7 - -
W g 43 - - 30.2 431 26.7 -
N F 262 - 285 58.5 8.6 4.4 -
J\R L B 254 - 83.2 16.1 0.2 - 0.5
J\RER15 E B 1,598 - 81.7 13.1 0.1 0.2 49
I\REE25 o B 12 - - - 65.8 34.2 -
FEM 5 & 231 - - 99.1 0.9 - -
[ESAY ) = 7 - — - 13.0 87.0 -
FEIDPH 5 & 8 - - 100.0 - - -
Ed BE X 100 — 7.2 88.2 46 - -
EWE F & 881 - 12.6 81.1 6.3 - -
| 4 - - - 100.0 - -
BB 10 - - 100.0 - - -
N E 896 - 12.4 81.0 6.7 - -
V=558 * 145 - - 9.0 18.7 72.3 -
VEEFEEN Iz B 622 - 67.8 28.1 4.0 0.1 -
VESTH w K 73 - - 95.3 35 - 1.2
[TT] 161 - - 97.4 1.0 1.6 -
E ¥ 1,115 - - 86.8 10.8 24 -
I Et 1,349 - - 88.5 9.2 2.2 0.1
BEH M H 85 - - 94.1 5.9 - -
EEILER E & 196 - - - 97.6 2.4 -
EEXR E & 79 3.7 39.1 12.9 38.7 5.6 -
Hyogo Sake 85 E E 50 - - 50.9 455 3.6 -
EER E & 82 - - 100.0 - - -
EEZR kR & 158 - 6.1 80.1 13.8 - -
U&Y =2 W 5 - - - - 100.0 -
B/hE B B 178 — - 85.1 13.5 1.4 -
259/1\F m= B 6 - - 100.0 - - -
E [&E 136 - - 7.2 92.8 - -
N E 141 - - 10.9 89.1 - -
BogE F % 91 - - 97.3 27 - -
iR E & 8 - - 63.0 37.0 - -
a7 5 & 191 - 9.3 88.7 0.2 1.9 -
kE125 ! R 51 - - - 81.6 13.6 4.8
a i 3 - - 100.0 - - -
N E 54 - - 6.1 76.6 12.8 45
EHMY M A 14 - - 98.9 - - 1.1
5= g M -
ZR BB 25 — — - 78.4 21.6
i | 223 - - 66.5 18.3 14.6 0.6
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(BAI:b. %)

8 & Eow | @ 3 % i e *
B E | B HE|1% | 2% |3 % [HE5
ESIIE B W 130 - - 25.1 50.7 23.3 0.9
M H 906 - - 94.7 4.4 0.8 0.1
W 591 - 48 85.6 9.1 0.2 0.3
BB 175 - - 70.7 27.6 1.6 -
*x W 75 - - 96.1 3.7 - 0.2
N 15 - - 82.4 14.6 - 3.0
E W 4 - - - 100.0 - -
W 13 - - 100.0 - - -
E B 2,404 - - 95.2 3.1 1.7 -
N E 4314 - 0.7 90.6 6.8 1.9 0.1
SMEEL B M| 243 - 10.4 63.7 15.4 10.5 -
WiB45 [TV 96 - - 495 414 8.0 1.1
B B 19 - - 99.2 05 0.3 -
N E 115 - - 57.7 34.7 6.7 0.9
LI AR T W 46 - - 31.1 62.1 6.5 0.3
W -
z B 230 - - 35.3 63.5 0.7 05
*x W 63 - 26.8 63.7 45 49 -
m K 1,474 0.2 16.0 70.8 6.0 2.7 43
BB 3 - - - - 100.0 -
% E 24 - - 55.7 23.9 10.7 9.7
F oE 13 - - 20.0 15.5 64.5 -
W= 70 - - 74.9 5.4 18.9 0.8
,moB 650 - - 433 36.0 16.7 40
E W 616 - - 94.0 6.0 0.0 -
a 86 - - 78.5 20.5 1.0 -
1= 80 - - 71.8 243 1.9 2.0
AT} 28 - 46 17.8 30.7 438 3.1
E % 41 - - 92.5 5.9 - 1.6
#% M@ 357 - 0.4 72.1 16.0 1.3 0.2
Z A 48 - - 46.8 52.4 - 0.8
= = 285 0.8 30.6 50.2 6.8 11.6 -
# E 676 - 1.1 65.0 28.7 5.1 0.1
" 165 - - 38.5 46.6 10.9 4.1
X R 18 - - 7.8 31.7 56.5 4.1
E & 16,993 7.3 71.1 12.9 1.6 34 39
= B 158 - - 431 35.6 17.8 3.6
M oW 18 - - - 60.3 39.7 -
& 245 - 0.5 65.4 19.4 13.2 1.4
E R 169 - - 35.9 47.8 16.3 -
[ W 3,327 - 0.6 76.2 48 12.1 6.3
E B 1,134 - 43 83.6 6.4 5.0 0.8
(1T 2,210 - 25.1 59.7 43 9.3 1.6
= 5 361 - 77.8 14.1 - 7.7 0.4
EF 36 - - 41.8 50.3 7.9 -
T IE 27 - - 20.3 79.7 - -
= A0 28 - - - 39.9 60.1 -
= M| 782 - - 79.0 16.9 39 0.3
® = 334 - 7.9 771 5.2 2.7 71
E & 78 - 1.6 15.1 54.1 25.0 42
B X 215 - - 79.6 126 26 5.2
X # 89 - 9.9 7.0 232 58.6 1.3
R 11 - - - 25.8 - 74.2
BERE -
N E 31,192 40 42.9 37.2 6.6 59 35
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= s = £ & it &=
w R E R | RBH e Tee[1 2825835 % [BRA
AT E & 125 - 93.6 1.0 5.4 - -
HEnE 72 F 138 - - 23.1 38.8 38.1 -
ELH [T 315 34 16.1 56.1 18.7 3.3 25
S = E -
Z5E Z 103 - 6.1 30.1 58.3 55 -
B335 K 184 - - 58.2 37.0 0.6 43
EATIP/S [T 81 - - 78.9 21.1 - -
Z A 185 - - 96.3 3.7 - -
N F 266 - - 91.1 8.9 - -
Z0E E B 1,263 - 0.1 90.7 7.0 2.2 -
EREE W= 16 - - 94.4 - 5.6 -
L) 12 - - - - 100.0 -
N F 28 - - 53.5 - 46.5 -
=K *x W 8 - 85.8 14.2 - - -
B 48 - - 94.0 1.7 43 -
W= 19 - - 34.8 46.8 18.4 -
Z A 99 - - 51.7 430 5.4 -
X 7 14 - - 96.7 - - 3.3
N E 188 - 3.7 62.4 27.8 58 0.2
B *x W 46 - - 436 52.0 43 -
Ef2s E E 70 - 443 45.2 8.9 1.5 -
E oM & E O W &t 79,104 1.8 21.9 48.6 19.4 6.4 1.9
# i = # = 80,915 1.7 21.4 479 19.6 7.2 2.1
1) SOVEOBEBRTEEARARN—HBLEWNEELH S,
2) TOJ IFEEICHEEEZNWED, T-] EERLFALZVEDETRT,
3) HERBEHEICHEHMRABEHALUNOBELEFNS-OEMRERAITE B LG,
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